

IF $f(x) = \left(\frac{1}{x}\right)^{x-1}$

$y = \sqrt{x^3 f(x+1)} \rightarrow f(x+1) = \frac{1}{x+1}^{(x+1)-1} = \frac{1}{x+1}^{x-1} \rightarrow \sqrt{x^3 \cdot \left(\frac{1}{x+1}\right)^{x-1}} \rightarrow x^3 \cdot \left(\frac{1}{x+1}\right)^{x-1} \geq 0$

$\left(\frac{1}{x+1}\right)^{x-1} > 0 \rightarrow \text{فقط حالت } x^3 > 0 \rightarrow x > 0 \text{ و } x+1 > 0 \rightarrow \text{دامنه} = [0, +\infty)$

$f(x) = \sqrt{x+1|x+2|} \rightarrow x+1|x+2| \geq 0$

$|x+2| \xrightarrow{\text{مقادیر دارد}} \textcircled{1} x+2 \geq 0 \rightarrow x \geq -2 \rightarrow x+1|x+2| = x+(x+2) = 2x+2 \geq 0 \rightarrow x \geq -1$

$\textcircled{2} x+2 < 0 \rightarrow x < -2 \rightarrow x+1|x+2| = x+(-x-2) = -2 < 0$ رد.

$f(-x) = \sqrt{-x+1|-x+2|} = -x+1|-x+2| \geq 0 \xrightarrow{\text{مقادیر دارد}} \textcircled{3} \begin{cases} -x+2 \geq 0 \rightarrow x \leq 2 \\ -x+2 < 0 \rightarrow x > 2 \end{cases} \rightarrow \text{دامنه} = (-\infty, 2] \cup (2, +\infty)$

$y = \sqrt{\frac{x-1}{f(x)}} \rightarrow \frac{x-1}{f(x)} \geq 0 \rightarrow x-1 \geq 0 \rightarrow x \geq 1$
 $\rightarrow f(x) \neq 0 \rightarrow 2, 3, -4, -5$ (بنایه با 2)

$\rightarrow \frac{x-1}{f(x)} \geq 0 \rightarrow \text{دامنه} = [2, 3) \cup (-4, -5]$

$y_1 = \frac{1}{9x^4 - 7x^2 - 4x - 3} \rightarrow 9x^4 - 7x^2 - 4x - 3 \neq 0$

$\rightarrow (3x^2 + Ax + B)(3x^2 + Cx + D) = 9x^4 + (3C + 3A)x^3 + (3D + 3B + AC)x^2 + (AD + BC)x + BD$

$y_2 = \frac{1}{3x^2 + 4x + b} \rightarrow 3x^2 + 4x + b \neq 0$

$+ (AD + BC)x + BD$

$\rightarrow C = -A = 1, B = -3 \rightarrow \sqrt{-(A+B)} = \sqrt{-(-1-3)} = \sqrt{4} = 2$

$y = \sqrt{f(x) - f\left(\frac{1}{x}\right)} \rightarrow (x^3 + x) - \left(\left(\frac{1}{x}\right)^3 + \frac{1}{x}\right) = x^3 + x - \frac{1}{x^3} - \frac{1}{x}$

$\rightarrow x^3 + x - \frac{1}{x^3} - \frac{1}{x} \geq 0 \xrightarrow{x^3 = t} \frac{x^4 + x^2 - 4x^2 - 1}{x^3} \geq 0 \rightarrow t^2 + t^2 - 4t - 1 \geq 0 \rightarrow x = 2$
 $t^2 + t^2 - 4t - 1 \leq 0 \rightarrow x = -2$

$\rightarrow \text{دامنه} = [-2, 0) \cup (2, +\infty)$

$$F(2) + F(10) =$$

$$F(x^4 + x) = 2 \rightarrow \boxed{x=1} \rightarrow F(2) = 2^2 - 1 = 1 \quad F(2) + F(10) \rightarrow 1 + 5 = 6$$

$$F(x^3 + x) = 10 \rightarrow \boxed{x=2} \rightarrow F(10) = 2(2)^2 - 1 = 5$$

6

$$F(x) = x^3 - 9x^2 + 12x \xrightarrow{\div x} x(x^2 - 9x + 12) \Rightarrow F(x) = x((x-3)^2 + 3) \xrightarrow{\text{فرض مقلع}} F(\sqrt[3]{2} - 2) = 10$$

$$g(x) = x^3 + 9x^2 + 12x \xrightarrow{\div x} x(x^2 + 9x + 12) \xrightarrow{\text{از فرض مقلع}} g(\sqrt[3]{2} - 2) = -20$$

$$\rightarrow \frac{g(\sqrt[3]{2} - 2)}{F(\sqrt[3]{2} + 2)} = \frac{-20}{10} = -2$$

7

$$f(x) = \sqrt{x+4}\sqrt{x-4} \rightarrow |\sqrt{x-4} + 2| = \sqrt{x+4} + 2$$

$$g(x) = \sqrt{x-4}\sqrt{x+4} \rightarrow |\sqrt{x-4} - 2|$$

$$f(x) + g(x) = \sqrt{x-4} + 2 + 2 - \sqrt{x-4} = 4 \rightarrow 1 \geq x \geq 4$$

$$f(x) + g(x) = \sqrt{x-4} + 2 - 2 + \sqrt{x-4} = 2\sqrt{x-4} \rightarrow x \geq 1$$

$$\rightarrow a=0, b=2, c=-4$$

$$\frac{a+b}{c} = \frac{2}{-4} = -\frac{1}{2}$$

8

$$F(x) = \{(2, -4), (0, \frac{2}{3})\}$$

$$g(x) = \{(2, 1), (1, 0), (3, 5), (0, 4)\} \rightarrow \frac{g}{f} = \{(2, -\frac{1}{4}), (0, 6)\}$$

9

$$\text{الف) } F(2x) = \{(\frac{1}{2}, 2), (\frac{2}{3}, -1), (2, 2), (-\frac{1}{2}, 4)\}$$

$$\text{ب) } F(x^2) = \{(1, 2), (\sqrt{2}, -1), (2, 2)\}$$

$$\text{ج) } 2g^2(x) + 1 = \{(-2, 19), (1, 3), (3, 9), (-1, 1)\}$$

$$\text{د) } \frac{2F}{g} = \{(1, -4), (2, -1), (-1, \frac{2}{3})\}$$

تن

10